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IV Scmester B.Se. (NEP) Degree  Examination, October - 2023
CHEMISTRY
DSC - (Regular)
Time : 2 Hours Maximum Marks : 6()‘

Instructions to Candidates: 1)  All questions are compulsory

2) Draw necat diagrams and give equations wherever
necessary.

1.  Answer any Six questions. (6 x2=12)

a)  Write Van Deemter’s equation and mention the term.
b)  Whatis solvent extraction? Give an example.
¢) Whatis hybridisation?
d) What is difference between intrinsic and extrinsic semi conductors?
e)  Write the stability order among alkyl carbocation and mention the reason.
f)  Write the mechanism of sandmeyers reaction
g)  Define equivalent conductance and give its uni
h)  Write Debye-Huckel onsagar equation and mention the terms.

2. Answer any THREE questions. - ' (3 x4=12)
a)  Givebriefaccount of Thin layer chromatograph.
b) Explain in brief the solvent extraction of copper

c) " Write the mechanism of cation exchange process..

d)  Whatis solvent extraction? Explain the batch extraéltion method.

3. Answer any THREE questions. ' (3 x4=12)
a)  Explain SP? hybridisation with an example. |

b)  Draw and explain molecular orbital energy level diagram of N, molecule.

[P.T.O.
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¢} What are the properties ol conductors, Insulation and semi conductors?
dy  Explain Band theory of solids

4. Answerany THREE questions. (3 x4=12)
a)  Discuss the mechanism of pinacol-pinacolone Rearrangement.

b)  Explain the stability of Benzyl cation, write the mechanism of dicnone phenol
Reamangement.

¢} Whatare Nitrenes? Give any two reactions involving the formation of nitrenes.

d}  How does isotopic labelling studies help to identify reaction mechanism? Explain
with example.

. Answerany THREE questions. (3 x4=12)

a)  Calculate the activation energy of a reaction whose reaction rate at 27°c gets doubled
for 10°¢ rise in temperature.

b)  Describe the conductometric titration curve for the titration of weak acid with strong
base.

¢)  State kohlrausch’s law. Explain how it is useful in determining the equivalent
conductance at infinite dilution of weak electrolyte.

d)  Explainthe determination of transport number by moving boundary method .
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IV Semester B.Sc. 5 Degree Examination, September/October - 2023
MATHEMATICS
Fourier Transforms (SEC)

(Repeater)
Time : 2 Hours Maximum Marks : 40

Instructions to Candidates :
1) Questions paper containing two parts A and B.
2)  Answer all parts.

Part-A
1.  Answerany FIVE of'the following. (5%2=10)
" a) Define periodic function and give an example.
b) State Dirichlets’ conditions for Fourier expansion.
c) Define Fourier series and Fourier co-efficients.
d)  Obtain the half range cosine series for f(x)=xin (0, 2).

e) Define finite cosine transform.

f)  Find finite fourier sine transform of the function f(x)=1in(0,r).

g) Find finite cosine transform of f(x)=1+xin(0,3).

Part-B
Answer any SIX of'the following. (6x5=30)

N

Obtain Fourier series for the function f(x)=x* in[-z.x].
3.  Obtain the Fourier series of f(x)=x-x*in -1 <yx<].
4.  Find the half-range sine and cosine series for the function f(x)=z-x in (0,7)

5.  Find finite Fourier cosine transform of f(x)=x’ in the interval (o, )
P.T.O..
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Find the finite Fourier sine transform of f(x)=1+x in (0.3).

7. Find Fourier finite cosine transform of f(x)=2-x in (0,2).

, ,
x\ .
8. Find the finite Fourier sine and cosine transforms of f(x) = (1 ‘;) l.n (0’ ”) .

X if 0<x<nm

9.  Find the Fourier series of /() ={7r-_x if r<x<2z’

K
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IV Semester B.Sc. (NEP) Degree Examination, October - 2023
Financial Education and Investment Awareness (SEC)
(Regular)

Time : 1% (90 Minutes) Maximum Marks : 30

Instructions to Candidates:

1. -Check for complete printing of 30 questions.

[§%]

The last page of the question paper may be used for rough work.

3. Each question has four 1nulti§lc phoice answer and choose the correct one.

4. Darken the appr'oprime circle with the ball pen.

5. Damaging/overwriting using whitener on the OMR sheefs are strictly prohibited.

6. No candidates will be allowed to leave the examination Hall till the end of the session
and without handing over his/her answer sheet to the invigilator.

7. Candidates should ensure that the invigilator has verified all the entries and that the
invigilator has offixed his/her signature in the space provided on the OMR.

[P T.O.
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1. ATM stands for

A)  Any time money B) All time money

C) Automated Teller Machine D) None of the above
D.83.00 N0TT

A)  CIRS AODEOR, T 'B) cdnmonow @6

C) Iohornd3 8300 ados, D) S0 oima’g)da e

2. The Act of spreading your investment to various assets classes in order to reduce the
expose level any one is called

A) Divestment B) Diversification
C) Diversity D) Investment
BeaT INB RoRPraE) 3D 3ed ANV Tead IR 3TN [IH, BRDD [N
r'D"Dcoﬁ .
A) ci d%ﬁao&s‘ ' B) d&,mz@eew
C) ©=oa D) =mp&%
3.  An overdraft (OD) facility up to Rs................ is availed to eligible accounts holder’s of
PMIDY - ' B~ |
A) 10,000 . B) 20,000
C) 30,000 ' D) 40,000
PMIDY cipexs eRob) a»d Ze003 $@8F andmod Wid® me, Pogae, om),
DL DBODWTBOTD.
A) 10,000 B) 20,000
C) 30,000 D) 40,000
4.  Which of the following are the types of deposits
A) Demand deposits B) Time deposits
C) Aand B D) None of the above
21 BINIYNYO cdns Be[ednsd, TSedod JFNTNS.
A) el Bezses B) A=ad Feesed
C) A D B : D) Soed3 cdnycd we) |
5.  Micro environment factor's are
A) Customer's B) Suppliers's
C) Competitor's D) All the above
7iRg , ZOR0T Losn.
A) m B B) &©pg5me0dd
C) ZEAOrnD D) RoedT Q0P
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6. Which of the following are the indicators on inflation in India ?

A) CPI > B) WPI

C) A and B both D) None of the above

POSRY, B8 FINIINTY, BeordeyoE ARUENTD

A) CPI B) WPI

C) A and B both D) None of the above

10.

In which year RBI was nationalised ? A
A) 1947 B) 1949

C) 1955 | D) 1956
31 FWNSINIE, 03NS [RF B0°.0.803F. TIYFITLNRIREID.
A) 1947 B) 1949

C) 1955 D) 1956

SBTS stands for |

A) Shares based trading system B) Screen based tradilng system
-C) Securities based trading system D) None of the above

SBTS 033 | o

A) Bt er08 w0 BT, B) 08 ¢m03 mm0 B33

C) B = upeds &m0 SR - D) X0eds cdoyd oy,

Which of these is/are term/s used in technical analysis ?

A) RS B) ADX

C) Candle Sticks _ D) All the above
25 BINT[Q), 20038 RS SREIN 0BT, WPROBT.

A) RSI B) ADX

C) ®,030 AF D) R0edT 2

Which of the following financial statements used while doing fundamental Analysis ?

A) Balance Sheet B) Profit and Loss Account

C) Cash flow statement : D) All the above ,

3 9N IR TEOTOAS ao?,i/ejiiajgsnv@( RV QYR SRR eumedee DO33.
A) e BT B) oo 35 a3

C) Tres TOLT 03 D) 20093 a9

[P.T.O.
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1. Following are the advantages of mutual funds
A)  Varicty of investment structures B)  Wealth creation

C) Tax benelit (saving's) D)  All the above
THOIYOE AOADY, TPRTOD LITRVINW

A) 38 30 TeAdodh AFPRW/HFINW B)  RoTL AT
C) 3o ewvzood D) oeds Qe

12.  Stock exchanges in India under which chufatory Authority

A) Central Government B) RBI
C) SEBI D) SBI
LRO3T e a’ﬂadaa’é:iabp‘igi = NS adns 750?0; 00Z, = 9HTT BRODT.
A) 3eod, XwFO ) B) RBI
C) SEBI o D) SBI
13. SIP means
A) Scientific investment plan B) Social investment plan
C) Sccufity investment plan D) All the above
SIP 038 ‘
A) 8 medd odeexd B) =~an®s ek odrend
C) =g medd cdres D) 093 Q0P
14. Which of these are the money market instruments
A) Certificate of deposit B) Commercial papers
C) Treasarary bills D) All the above
2 IWNIYNYY, CIRTY) BT [RTITLOD FTINWD.
A) BeSed BAD B) ordw, @R
C) oo wepnsh D) R0:d3 a@nwd

15. Sukanya Samruddi Yojana was introduces of Government of India in the year

A) 2015 ‘ B) 2016
C) 2017 ‘D) 2018
PO KUTO) A, ;ﬁg)c?p ojrazzﬁcm:ig( ONRRIAT IR )
A) 2015 - B) 2016
C) 2017 D) 2018
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16.

17.

18.

19.

(5)

20905

Income tax comes under which types of tax in India

A)

C) Provisional Tax

Direct Tax B3)
D)

""‘""C)’J eSS0 30n & YN
A) :’,:’3‘ kteat B)

L)

I

C) =cx03 300

-
o

-

D)

Father of modermn economics
A)  Adam Smith B)

C) Alfred Marshal D)
SPOVT t;&-’:»étb’ 2TIRNT

A) ETEIF AT B)
C) «d& Inard ' D)

&

Risk appetite is higher when
A) Life expetancy is smaller - B)

C) Life expetancy is Longer

MOTE0 TR TERDIT. S NS RHOTUF T
A) T Q08 1BFEINCIZT. - B)
C) s R0 SB% AT D)

Indirect Tax
None of the above

CIRE HPT 3011039, LHIT.

—J
SEvcs

g 3on

D ey

2eOT 0IRWTR =)

Paul Samuelson
None of the above

F SORNBOT
CIRTT B

Life expetancy is Lower

All the above

WD Q0T QETFRE AT
F0edT CARJYW AQ,

In which of the lollowlnu, are not factors of production ?

A) Production B)
C) Labour D)
= "i‘:‘l\'ﬁ"_ﬁtm) cIRTD) UU"DH:ZD "T’T’JQ
A)  OZOE B)
C) ©®owoF D)
ITR stands for

A) Industry Tax Return B)
C) Income Tax Return D)
JTR =0t

A) b don mE B)
C) ,"“ Zon s D)

Land
Capital

YRR
WOBTIY

Individual Tax Retumn
None of the above

[P.T.0.
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21. Investments can be made is
A)  Physical Assets ‘ B) Financial Assets
C) BothAand B - D) None of the above
TRRECHTY AR
A) ¥R LA B) ®cotoad SANH
C) ADB 20@Ee D) R0ed3 BRFO €Y,
22.  Which of the following are the investment goals ?
A)  Generating Income " B) Preserving Capital
C) Maintaining Liquidity D) All the above
5 TINTZNYO, 3=y @eAFOD MONYaNsS : _
A)  STOHTI, LSOOI B) wommevEE) ROTTOTYT
C) BunSZody ABF LR D) O 0P

23. Atal Pension Yojana is a social security scheme launched by Government of India for
the workers of ,
A) Organised sector B) Un organised sector
C) Both A and B D) None of the above
o038 XEFT e B cdnexd B0, KmRE ATFI0N TU00T 0IRET FAFTT

%3030 3 0dRewS 20N S0DT.

A)  RoPEs3 [OoD | B) emogiE wood
C) A=H B 0@ D) ocdnazce o
24. Banks are regulated under ................. Act
A) RBI Act 1934 ' B) Banking Regulating Act 1949
C) SEBI Act 1992 D) None of the above
17,0878 AOHOFEd Bt TN AR -----—- 03, .
A) ©U.0.0. 5od 1934 B) wy0ton' dadog,ee 5203 1949
C) Rew sod 1992 D) 03 cdngymd ey

25. If you invest Rs.1,00,000 at an interest rate of 8% p.a. compounded Annually. How
many years will it take for the investment to double

¢ 12 D) 15

oez) 1,00,000 "w"f?ﬁ@\ 8% 3’;:)353 dddf?_, m&ﬁab:% zﬁ_ﬁ)u% dddq o STF NEIEL
=Snhoon o C?:Tti‘?ﬂ’a‘vbgd. e

A 5 B) 9

¢ 12 D) 15
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26.

27,

28.

29.

30.

4 ™% . .
Which of these not considered ‘as Macro environmental factors

A)  Demographic factors B) Technology factors
C) Political factors D) Customer's factors
& EINIJNYY cdnz o3nh QTUDIT TOXOT LOTNYY,

A)  wEI05,TF, 03NRW B) 30338 ©@o3nsh
C) oTomdecd es03nd D) m®83 Lo3nsd

UPI stands for

A) Unified Payments Interface B) Universal Payments Interface

C) Unified Payments Interaction D) None of the above ’

UPI oo

A)  0DRI[TE TR0k QoLITHeR* B) 03dT0RST HRB00L QOLITHCR*

C) cheIPE B’ QLT AT’ D) Hoed3 cInImd Y,

................... is the investment scheme meant for the senior citizen's aged about 60
A) PMIDY , B) PMVVY

C) A and B both ' D) None of the above

——————————— TrBE 03reEEodD 00D TNBED 60 ITFETONCS BedR SODITIJONS.
A) -PMIDY B) PMVVY

C) A D B 0D 7 D) 0O cdnmd ¥,

Which of the following is one of the oldest Retirement scheme in India ?

A) NPS B) PPF

C) SSY D) NSC

25 SINZNYY, oS cdnend €308 THod P8 odrerSodRns ?

A) NPS B) PPF

C) SSY D) NSC

Shareholders funds include

A) Equity share capital

C) Retained profit of the year
ZedomoC0 O3 L.tfrif:sqgai.
A) TR, Sedd woBETY B) Qomed DD a,’zi_b:ﬁc)
C) wwerdecd Sxrg ooyl D) R0¢93 29T

B) Reserve and Surplus
D) All the above

[P.T.0.
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No. of Printed Pages : §. Booklet Serial Nn.224 6 8 3

Reg. No.

IV Semester B.Sc./B.Com. (NEP) Degree Examination, October - 2023
COMPUTER SCIENCE
Artificial Intelligence (SEC)
(Regular)

Time : 1% hours Maximum Marks : 30
Instructions to Candidates:

1. Answer all questions.
2. All questions are MCQs.
3. Each question carries one mark.

1. Check for complete printing of 30 questions.
2. Thelast page of the questioq paper may be used for rough worl‘{.
3. Each question has four multiple choice answer and choose the correct one.
4.  Darkenthe appropriaté circle with the ball pen.
5. Damaging/overwriting using whitenervon'the OMR sheets are strictly prohibited.

6.  No candidates will be allowed to leave the examination Hall till the end of the session
and without handmg over his/her answer sheet to the 1nv1g11ator

7.  Candidates should ensure that the invigilator has verified all the entries and that the
invigilator has offixed his/her signature in the space prov1ded on the OMR.

[P.T.O.
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6.

Who is the inventor of Artificial intelligence?

A
B.
G
D.

In a college office daily attendance through biometric machine is an €x

John McCarthy.

GocfTrey Hinton.

Andrew Ng.

Juergen schmidhuber.

ample of which of

the following.

A
B.
ek
D.

Face Detection.

Image classification.
Natural language processing.
All of the above.

Azure bot provide a service to

A.
B.
C.

D.

Web chat.

Email.

Messaging.

None of the above.

If system is trained by labelling the objects these is called.

A

B.
C.

D.

Supervised learning.
Unsupervised learning.
Self'- learning.

None of the above.

In how many categories process of Artificial intelligence is categories.

A
B.

C.
D.

Categorised into 5 catgories.

Based on input provided.
Categorised into 3 categories.

Process is not categorised.

Which of the following is a component of Artificial intelligence?

A
B.
C.

D.

Leaming.
Training. -
Designing.

Puzzling.

& Scanned with OKEN Scanner
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7 Which of the following is nota service QH'crcd by Azure Al?

A, Azurcmachine [carning.

B. AzureBot service.

C.  Azurecognitive scarch.

D.  Azure Databricks.

Which of the following is the branch of Artificial intelligence?
A, Machine learning.

B. Cyber forensics.

C. Tull - stack developer.

D. Network design.

9.  Alapplications to "see" the world and make sense of it.

A.  Computer vision.
B. Real time vision.
C. Machine vision. -
D. Noneoftheabove.
10. Which of the following is NOT a feature of the Azure machine learning designer?
A. Drag - and - drop interface | |
B. AutoML.
C. Code editor.

D. Model monitoring.
11. Which of the following is’NOT a feature of Azure computer vision service?

A.  Image tagging.
B.  Object detection.
C. Textextraction.

D. Face Recognition.
12.  Which of the following isa popular natural language processing library.
A. Spacy.
B. NLTK.
C.  Stanford CoreNLP.
D.

All of the above.(

[P.T.O.
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13.  Whichofthe following is a usc casc (or conversational AI?

A, Customer service.
B.  Sales.
C. Marketing.
D. Alloftheabove.
(4. Which of the following isNOT a hyper parameter?
A.  Learning rate.
B. Numberofepochs.
C. Batchsize.

D. Dataset.

15. What is neural network regression?

A.  Atypeof machine learning algorithm that uses neural networks to predicta continuous

value.

B. A typeof machine learning algorithm that uses neural networks to predicta categorial

value.
C. Atypeofmachine learning algorithm that uses neural networks to classify data.
D. None ofthe above.
16. Short cut key to create group in power BL

A.  Ctrl + Click.

B. Cul+A
C. Cul+G
D. Ctrl + N.

17. Attribute which is uniquely identified called.
A.  Foreignkey.
B.  Superkey.
C.  Primary key.

D. Console key.

& Scanned with OKEN Scanner
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18.  Which of'the following is types of storage models in power BI.
A Import.
B. Direct query.
C.  Dual (Composite).
D.  Allofthe above.
19.  What s not the type of relationships that you will find in power BI?
A One-to-Many.
B. Many - to- One.
C. Many-to-Any.
D. Many - to - Many.
20. Howdoyou visualize adata?
A. By barchart.

B. By line chart.
C. By piechart.
D. Alloftheabove.
21. Which of the following is NOT a step in the data preparation process?
A Cleaningdata. -
B. Formatting data.
C. Analyzing data.
D. Validating data.
22. Which of'the following is NOT a microsoft data analytics tool?
A.  Power BI Desktop. '

B. Excel.
C. Rstudio.
D. Python.

23. Which of the following is a type of data model is power BI?
A Relational model. ' |
B. . Mesh model.
C. Hierarchical model.
D.

Been model.

[PT.O.
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Which of the following is NOT a benefit of using visualizations in power BI?
A lmproved communication.,

B, Increased understanding.

C.  Simplitied analysis.

D. Reduced complexity.

Which of'the following is NOT a type of data analysis in power BI?

A. Descriptive analysis.

B.  Diagnostic analysis.

C.  Predictive analysis.

). Prescriptive analysis.

What is Power BI primarily used for?

A. Word processing

B. Dataanalysis and visualization.

C.  Video editing.

. Social media management.

Whatis a power Bl dashboard?

A A collection of reports, visuals and other elements.
3. Atemplate for designing data models.

C. A datastorage location within power BI.

D, Adata transformation tool.

In Power BI, what is a workspace?

A. Avirtual area to organize and collaborate on center.
I3, The physical location of the Power Bl servers.

(. The folder where Power B files are saved.

. A collection of visualizations in a report.

Which role ina Power Bl work space allows member to edit, publish and share content?
A Viewer.

13 Contributor.

C. Admin

l) ,'\h‘l]l}‘-&.‘f.
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30. Which type of analysis is perfonned by key influencers v15uahzatlon in power BI? .
| A.  Regression analysis,

- B. Cluster analysis,
C.  Trendanalysis.
D. . Data validation.

[P.T.O.
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Time : 2 Hours
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Maximum Marks : 60
(10x1=10)
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& Scanned with OKEN Scanner



v @)

S.

10.

11.

S, I o & foram rlerm o 27
q) @
a Q@

+) A
HAY T F gl R Tt § e 22

e
@) o=

+) AR
HAY AT o d¢ AT A T 87

3) I

q)  HA

&®) WA

g vl et o 22
F) wha

) I

%) gt

ofr vl & forfa Reard Reeeft wnat # AR A o2

3) =

oo

) 9=

3 F

uge e foRl g T 27

) |Em

q) qArR

&) . % Sl |
R il viwor B wa ar?
@) WA |
a) W

®) WA

47155/D0050

& Scanned with OKEN Scanner



(RIS 3) 47155/D0050
12, Rt gen-fedl @ Reon e ar 3 R 3m 22
) AT
) wEw
|) TA ,
Il &l &7 =1 dogd wnftemwr €k (3%5=15)
. ‘H@aﬁaﬂ,aﬁaﬁﬁﬁiﬁﬁz%lﬁmﬁsﬁﬁwmi‘
"8 Tl e fers wed §) g s s R )
3. s Ot i foran wi) ) @ gren on na wRw s mEE @@ gl
4. TR @ g W usg e @ wEm)
NI &6 @ vt & I frfag) ~ (2x10=20)
. ‘wwi i gm el soam = smm we fifvwe
| i gm feferady’ mﬁw-ﬁéﬁw%m?ﬁaﬁ%mﬁﬁq?

!\)

N

3. wfa @ um ufEm-Rewm S
4. wwEi B g Riad mmm%@mﬁwm@ffm?

IV. f&h fim ool #1 s fifam) (3x5=15)
. T vawn & fog frimm o= forRan 2 '

2. HEEE @R UT ¥ e un faRau?
3. 9% g% T WM F wed § g e sraeas # ua fifae?
4

%qm@xmﬁaa@mumﬁézﬁmmg%mﬂmﬁmm(mm)
ImY w0 & forg amae faRaw?

& Scanned with OKEN Scanner



